

Adherence to Medication in Glaucoma Patients Could Improve the Visual Field

¹Reinne Natali Christine*, ²Gilbert Simanjuntak, ³Silphia Novelyn

Corresponding Author: *reinne.christine@uki.ac.id

¹ Universitas Kristen Indonesia, Jakarta, Indonesia

ARTICLE INFO

Article history

Received 26 January 2026

Revised 28 July 2026

Accepted 23 August 2026

ABSTRACT

Glaucoma is a leading cause of irreversible blindness worldwide. Medical therapy aims to reduce intraocular pressure (IOP) and prevent optic nerve damage, but its effectiveness depends on medication adherence. This study assessed medication adherence among glaucoma patients and examined its association with visual field outcomes after at least six months of medical therapy at Universitas Kristen Indonesia General Hospital in 2024. An observational analytic cross-sectional design was used. Medication adherence was measured once using the Indonesian Morisky Medication Adherence Scale-8 (MMAS-8), while visual field outcomes were evaluated retrospectively by comparing baseline and most recent 24-2 automated perimetry results from medical records. Eligible patients had received anti-glaucoma medication for ≥ 6 months, had at least two reliable perimetry examinations, and had not undergone glaucoma surgery. Fifty-one patients were included; 76.5% were female, with a mean age of 42.23 ± 21.4 years. Most had mild-to-moderate glaucoma, normal visual acuity, and baseline IOP within the normal range. Latanoprost was the most prescribed medication. Mean IOP decreased in both eyes after treatment, while mean deviation improved from -7.69 ± 6.88 to -6.55 ± 7.77 dB in the right eye and from -6.87 ± 5.90 to -6.63 ± 5.70 dB in the left eye. Medication adherence was significantly associated with visual field quality ($p = 0.001$). Adherent patients more frequently showed mild-to-moderate visual field loss, whereas non-adherent patients had a higher proportion of advanced loss. Higher adherence was associated with better visual field preservation, underscoring the importance of patient education and regular follow-up in glaucoma management.

Keywords

Glaucoma
Intraocular Pressure
Medication Adherence
MMAS-8
Visual Field

This is an open-access article under the [CC-BY-SA](#) license.



Introduction

Glaucoma is a chronic optic neuropathy that leads to progressive and irreversible peripheral vision loss [1]. In 2023, the World Health Organization (WHO) reported that 7.7 million people were affected by glaucoma [2]–[4]. In Indonesia, based on data from the Health Information and Data Center in 2019, the prevalence of glaucoma reached 0.46%, indicating that 4 to 5 out of every 1,000 Indonesians experience this disease [5], [6]. Pharmacological therapy is the first-line treatment for glaucoma, aimed at reducing intraocular pressure to prevent further optic nerve damage. However, the effectiveness of this therapy greatly depends on patient adherence. Non-compliance with medication regimens due to forgetfulness, lack of understanding, side effects, or cost often undermines therapeutic outcomes, including the preservation of the visual field [7]–[9].

While numerous studies have established the general relationship between medication adherence and disease control in glaucoma, there is limited local evidence exploring this relationship in Indonesian clinical settings, especially regarding supporting factors such as family support, doctor-provided education and counseling, and reminder strategies. This study aims to evaluate the relationship between medication adherence and visual field outcomes in primary glaucoma patients at Universitas Kristen Indonesia General Hospital in 2024. It also explores contributing factors to adherence, with a focus on identifying barriers and potential strategies to improve treatment outcomes in this population.

Material and Methods

This study employed a cross-sectional design using retrospective data extracted from medical records. The visual field outcomes assessed at the six-month time point were not obtained through prospective longitudinal follow-up conducted as part of this study. Rather, the study analyzed clinical data already recorded as part of routine patient care, including the visual field examination performed after approximately 6 months of treatment. Data were obtained from the medical records of patients with primary glaucoma at Christian University of Indonesia General Hospital in 2024, and patients completed questionnaires to assess their medication adherence. The questionnaire used was MMAS-8 in Bahasa Indonesia. The study was conducted from January to December 2024.

The purpose of this research was to analyze the relationship between medication adherence and visual field quality in primary glaucoma patients who had received

pharmacological treatment only, and to explore the possible influence of doctor-led education as a support strategy for adherence. Patients was first time diagnosed with primary glaucoma who require the glaucoma sign included high intraocular pressure ($>21\text{mmHg}$), glaucomatous fundus in retina and defect of visual field of first perimetry. The examination conducted by glaucoma doctor in our clinic.

Samples were obtained with a purposive sampling method from the primary glaucoma patient population with no history of surgery or any laser treatment in eye. The patients had only undergone pharmacotherapy for 6 months, and had received a perimetry test at least twice using the same perimetry machine with 24:2 testing strategy. Patient with primary glaucoma who continue treatment with laser or surgery will be excluded, and others eye disease included infection or retinal disease were excluded.

Univariate and bivariate analyses were used to process data using IBM SPSS Statistics 26 software. Univariate analysis aims to determine the characteristics of glaucoma patients, while bivariate analysis aims to determine the correlation between medication adherence and visual field quality after undergoing treatment for at least 6 months using the chi-square test. The mean deviation was divided into mild ($>-6\text{ dB}$), moderate (-6 dB to -12 dB), advanced (<-12 to -20 dB), and severe ($<-20\text{ dB}$) [10], [11]. Medication adherence was measured using the Morisky Medication Adherence Scale-8 (MMAS-8) questionnaire in Indonesian which has been tested for validity and reliability was categorized into compliant (score >6) and non-compliant (<6). Medication adherence was measured using the Indonesian version of the Morisky Medication Adherence Scale-8 (MMAS-8), which has demonstrated acceptable validity (convergent validity= 0.882; sensitivity = 82.575%; and specificity = 44.915%). This research has been reviewed in advance by the ethics committee of the Institute for Research and Community Service (LPPM) UKI with number: 015/UKI.LPPM/PPM.00.00/ET.2024.

Results and Discussions

Table 1 shows the characteristics of glaucoma patients. Table 2 describes the mean deviation of perimetry and intraocular pressure. Table 3 describes the correlation between medication adherence and visual field quality. The result was significant ($p = 0.001$).

Table 1. Characteristics of glaucoma patients

Data	N	%
Gender		
Male	12	23.5
Female	39	76.5
Mean age	42.23 $\pm$ 21.4 years	
Visual field		
6/6-6/12	41	80.4
$<6/12$ -6/18	7	13.7
$<6/18$ -6/60	3	5.9

Data	N	%
<6/60-3/60	-	0
Number of glaucoma medications		
1 (one)	40	78.4
Combination	11	21.6
Medication category		
Beta-blocker	19	37.2
Prostaglandin analog	21	41.2
Combination		
Beta-blocker & prostaglandin analog	11	21.6
Acetazolamide	0	0
Brinzolamide	0	0
First visit IOP		
<10	1	1.9
10-21	38	74.6
22-30	11	21.6
>30	1	1.9

This study shows that our sample has mild to moderate glaucoma and is considered to get glaucoma medication at the first visit.

Table 2. Intraocular pressure and mean deviation at initial and after 6 months of medication

TIO (Mean)	Initial (mmHg)	6 Months (mmHg)
Right Eye	17.99 ± 5.60	16.72 ± 4.38
Left Eye	17.48 ± 5.19	16.96 ± 5.12
MD (Mean Deviation) Perimetry	Initial	Final
Right Eye	-7.69 ± 6.88	-6.55 ± 7.77
Left Eye	-6.87 ± 5.90	-6.63 ± 5.70

Table 2 shows the mean intraocular pressure of the patients and indicates that the glaucoma visual field defect is in the early stage. There was one patient with normotensive glaucoma in this study.

Table 3. Correlation between medication adherence and visual field quality

Medication adherence	Mild Moderate		Advanced Severe		P value
	N	%	N	%	
Compliant	38	74.6	4	7.8	0.001
Non-compliant	4	7.8	5	9.8	
Total	42	82.4	9	17.6	

Data indicated that female patients dominated the samples, accounting for 76.5% (39 individuals), compared with male patients at only 23.5% (12 individuals). According to Rizk, women exhibit a shallower anterior chamber depth, shorter axial length, and narrower angle width than men across all age groups. These anatomical differences contribute to the limited space in the anterior chamber, leading to impaired aqueous humor outflow [12]. Madjeji further noted that estrogen may play a potentially neuroprotective role, and estrogen deficiency in postmenopausal women is suspected to contribute to glaucoma [13]–[15]. The mean age of patients in this study was 42.23 years with a standard deviation of 21.42. This

aligns with the findings of Sari et al., who reported that glaucoma does not only occur in the elderly but can also affect children, adolescents, and young adults, a condition referred to as juvenile glaucoma.

Most patients (80.4%) had normal visual acuity, indicating that despite having glaucoma, their vision could still be preserved. These findings are consistent with the study by Purwanto T. et al., who reported that the highest prevalence in ICD-10 visual acuity classification was in the “good” category, with 29 eyes (36.7%) [16]–[19].

The majority of patients (74.6%) had intraocular pressure (IOP) within the normal range (10–21 mmHg). This result is in line with the study by Gosling, which suggested that even when IOP falls within the normal range, non-IOP-dependent mechanisms may still contribute to glaucoma progression, including vascular insufficiency of the optic nerve head, metabolic and neurodegenerative disturbances, oxidative stress, and abnormal biomechanics of the lamina cribrosa [20]–[25].

Latanoprost was the most commonly used therapy, with 21 patients (41.2%) receiving it. This finding is consistent with the study by Koushik et al., which noted that Latanoprost, a prostaglandin F₂-alpha analog, works by lowering IOP, increasing aqueous humor outflow, and improving uveoscleral outflow. Prostaglandins are often used as first-line treatment for glaucoma due to their efficacy in reducing IOP, once-daily dosing, and favorable safety profile [26]–[29].

In this study, after six months of treatment, a reduction in mean IOP was observed in both the right eye (OD) and left eye (OS). IOP decreased from 17.99 mmHg to 16.72 mmHg in OD, and from 17.48 mmHg to 16.96 mmHg in OS, demonstrating the effectiveness of therapy in controlling IOP. The reduction amounted to 1.27 mmHg in OD and 0.52 mmHg in OS. This successful reduction reflects the effectiveness of the medications used, particularly Timolol and Latanoprost. Furthermore, the improvement in Mean Deviation (MD) from –7.69 to –6.55 in OD and from –6.87 to –6.63 in OS indicates a significant enhancement in visual function.

Patients who adhered to treatment showed good visual field quality, accounting for 38 patients (74.6%). This reflects the crucial role of adherence in maintaining and improving visual field quality. Conversely, non-adherent patients experienced poorer visual field quality, with 5 patients (9.8%). This suggests that non-adherence may result in more severe optic nerve damage, worsening visual field quality, and a higher risk of blindness [30]. This finding is consistent with the study by Alvarado et al., which demonstrated that adherence to glaucoma therapy significantly reduces IOP and improves visual field quality [31]–[33].

According to Kvarnstrom et al., several factors contribute to non-adherence, including: lack of patient knowledge about treatment regimens, busy schedules leading to missed doses, changes in dosing routines, poor awareness of the importance of taking prescribed medication,

misconceptions about treatment, low health literacy (especially when written instructions are not in the patient's native language), comorbidities, physical disabilities limiting medication use, underestimation of disease severity, lack of information about the disease and its treatment, patients' desire for self-control sometimes leading to the use of non-prescription alternatives, poor access to healthcare services, weak patient-provider relationships, concealment of disease from others, strong religious beliefs prioritizing rituals over medication, and financial difficulties in purchasing medication [34]. In this study, the majority of factors contributing to non-adherence were related to patients' busy schedules, which often caused them to forget taking their medication [27], [35].

This study has several limitations. Being cross-sectional in design, it can only describe associations at a single point in time. Medication adherence was assessed using a self-reported questionnaire (MMAS-8), which may be subject to recall and social desirability bias. Visual field testing is also influenced by external factors such as patient fatigue, level of understanding of instructions, and inherent test variability, all of which may result in false positives or false negatives. In addition, factors such as baseline disease severity, type of medication, and systemic comorbidities were not controlled [36]. The educational support provided by physicians, although recognized as a potential contributing factor, was neither standardized nor quantitatively assessed. Finally, the limited sample size and single-center setting restrict the generalizability of the findings to the broader glaucoma population.

Nevertheless, this study has notable strengths. It focuses on a real-world clinical population of primary glaucoma patients receiving pharmacologic therapy only, with consistent perimetry testing over a defined treatment period. Moreover, it highlights the potential importance of physician-patient communication and education in improving medication adherence—an aspect often overlooked in glaucoma management research.

Future studies should employ a prospective longitudinal design with a larger, multicenter sample to better establish the temporal relationship between medication adherence and glaucoma progression. Objective measures of adherence, such as electronic medication monitoring or pharmacy refill records, should be incorporated alongside validated self-report questionnaires to improve measurement accuracy. Additionally, multivariable analyses controlling for potential confounding factors including baseline glaucoma severity, intraocular pressure, disease duration, treatment regimen, and systemic comorbidities are recommended. From a clinical perspective, structured patient education and adherence-promoting interventions should be implemented and evaluated to determine their effectiveness in improving long-term medication adherence and preserving visual function in patients with glaucoma.

Conclusion

This study found a significant association between medication adherence and visual field quality among primary glaucoma patients who had received pharmacological treatment for at least six months. Patients with higher medication adherence were more likely to demonstrate better perimetric outcomes, as reflected by less negative mean deviation values. Although most adherent patients had received education and counseling from their treating ophthalmologists, the cross-sectional design does not allow conclusions regarding the causal effect of adherence or educational interventions on visual field outcomes. These findings highlight the potential value of promoting medication adherence in routine glaucoma care. Further prospective longitudinal studies are needed to clarify the temporal relationship between medication adherence, patient education, and visual field progression, as well as to identify educational strategies that are most effective in supporting long-term adherence.

Conflict of Interest

The authors declare no conflict of interest.

References

- [1] K. Singh, P. Bhushan, D. Mishra, K. Kaur, B. Gurnani, A. Singh, and S. Pandey, "Assessment of optic disk by disk damage likelihood scale staging using slit-lamp biomicroscopy and optical coherence tomography in diagnosing primary open-angle glaucoma," *Indian J. Ophthalmol.*, vol. 70, no. 12, pp. 4152–4157, Dec. 2022, doi: 10.4103/ijo.IJO_1113_22.
- [2] J. D. Steinmetz et al., "Causes of blindness and vision impairment in 2020 and trends over 30 years, and prevalence of avoidable blindness in relation to VISION 2020: The Right to Sight: An analysis for the Global Burden of Disease Study," *Lancet Glob. Health*, vol. 9, no. 2, pp. e144–e160, Feb. 2021, doi: 10.1016/S2214-109X(20)30489-7.
- [3] World Health Organization, "Eye care, vision impairment and blindness," World Health Organization. Accessed: Sep. 4, 2026.
- [4] World Health Organization, "Blindness and vision impairment," World Health Organization, Feb. 10, 2026. Accessed: Sep. 4, 2026.
- [5] Kementerian Kesehatan Republik Indonesia, Pusat Data dan Informasi, "Situasi glaukoma di Indonesia," *InfoDATIN*, Jakarta, Indonesia, 2019.
- [6] Kementerian Kesehatan Republik Indonesia, Pusat Data dan Informasi, *Situasi Balita Pendek*. Jakarta, Indonesia: Kementerian Kesehatan Republik Indonesia, 2016.
- [7] A.-C. Zaharia, O.-M. Dumitrescu, M. Radu, and R.-E. Rogoz, "Adherence to therapy in glaucoma treatment—A review," *J. Pers. Med.*, vol. 12, no. 4, Art. no. 514, Mar. 2022, doi: 10.3390/jpm12040514.
- [8] P. A. Newman-Casey, L. M. Niziol, B. W. Gillespie, N. K. Janz, P. R. Lichter, and D. C. Musch, "The association between medication adherence and visual field progression in the Collaborative Initial Glaucoma Treatment Study," *Ophthalmology*, vol. 127, no. 4, pp. 477–483, Apr. 2020, doi: 10.1016/j.ophtha.2019.10.022.
- [9] Y.-H. Shu et al., "Topical medication adherence and visual field progression in open-angle glaucoma: Analysis of a large US health care system," *J. Glaucoma*, vol. 30, no. 12, pp. 1047–1055, Dec. 2021, doi: 10.1097/IJG.0000000000001943.
- [10] J. H. Kang, W. C. Willett, B. A. Rosner, E. Buys, J. L. Wiggs, and L. R. Pasquale, "Association of dietary nitrate intake with primary open-angle glaucoma: A prospective analysis from the Nurses' Health Study and Health Professionals Follow-up Study," *JAMA Ophthalmol.*, vol. 134, no. 3, pp. 294–303, Mar. 2016, doi: 10.1001/jamaophthalmol.2015.5601.
- [11] J. Y. Lee et al., "Relationship between anthropometric parameters and open angle glaucoma: The Korea National Health and Nutrition Examination Survey," *PLoS ONE*, vol. 12, no. 5, Art. no. e0176894, May 2017, doi: 10.1371/journal.pone.0176894.

- [12] M. Rizk, A. Grise-Dulac, and D. Gatinel, "Glaucoma in women: What do we know so far—A systematic review," *AJO Int.*, vol. 1, no. 1, Art. no. 100013, Apr. 2024, doi: 10.1016/j.ajoint.2024.100013.
- [13] K. M. Madjedi et al., "The association of female reproductive factors with glaucoma and related traits: A systematic review," *Ophthalmol. Glaucoma*, vol. 5, no. 6, pp. 628–647, Nov.–Dec. 2022, doi: 10.1016/j.ogla.2022.06.003.
- [14] R. Amalia, "Karakteristik pasien glaukoma di RSPUH periode 2022," undergraduate thesis, Fakultas Kedokteran, Universitas Hasanuddin, Makassar, Indonesia, 2023.
- [15] C. A. Shardi, "Hubungan jenis kelamin dengan kejadian miopia pada mahasiswa kedokteran: Studi observasional mahasiswa Kedokteran Universitas Islam Sultan Agung," undergraduate thesis, Universitas Islam Sultan Agung, Semarang, Indonesia, 2024.
- [16] S. Andole and S. Senthil, "Ocular surface disease and anti-glaucoma medications: Various features, diagnosis, and management guidelines," *Semin. Ophthalmol.*, vol. 38, no. 2, pp. 158–166, Feb. 2023, doi: 10.1080/08820538.2022.2094714.
- [17] R. P. Akhpa, "Prevalensi penderita glaukoma sekunder di Klinik Mata Puspa Seruni periode November–Desember 2022," diploma thesis, Universitas Bakti Tunas Husada, Tasikmalaya, Indonesia, 2023.
- [18] E. Mardalena and F. Feriyani, "Prevalensi pasien glaukoma dengan diabetes mellitus tipe 2 di Rumah Sakit Umum Daerah Dr. Zainoel Abidin Banda Aceh," *J. Sains Riset*, vol. 11, no. 3, pp. 532–538, 2021, doi: 10.47647/jsr.v11i3.783.
- [19] S. Bedrood, J. Berdahl, A. Sheybani, and I. P. Singh, "Alternatives to topical glaucoma medication for glaucoma management," *Clin. Ophthalmol.*, vol. 17, pp. 3899–3913, Dec. 2023, doi: 10.2147/OPTH.S439457.
- [20] J. Mallick, L. Devi, P. K. Malik, and J. Mallick, "Update on normal tension glaucoma," *J. Ophthalmic Vis. Res.*, vol. 11, no. 2, pp. 204–208, 2016, doi: 10.4103/2008-322X.183914.
- [21] D. Y. L. Leung and C. C. Tham, "Normal-tension glaucoma: Current concepts and approaches—A review," *Clin. Exp. Ophthalmol.*, vol. 50, no. 2, pp. 247–259, Mar. 2022, doi: 10.1111/ceo.14043.
- [22] H. E. Killer and A. Pircher, "Normal tension glaucoma: Review of current understanding and mechanisms of the pathogenesis," *Eye*, vol. 32, pp. 924–930, 2018, doi: 10.1038/s41433-018-0042-2.
- [23] D. Kamal and R. Hitchings, "Normal tension glaucoma—A practical approach," *Br. J. Ophthalmol.*, vol. 82, no. 7, pp. 835–840, Jul. 1998, doi: 10.1136/bjo.82.7.835.
- [24] A. Arbabi, X. Bao, W. S. Shalaby, and R. Razeghinejad, "Systemic side effects of glaucoma medications," *Clin. Exp. Optom.*, vol. 105, no. 2, pp. 157–165, Mar. 2022, doi: 10.1080/08164622.2021.1964331.
- [25] A. Erras, B. Shahrivini, R. N. Weinreb, and S. L. Baxter, "Review of glaucoma medication adherence monitoring in the digital health era," *Br. J. Ophthalmol.*, vol. 107, no. 2, pp. 153–159, Feb. 2023, doi: 10.1136/bjophthalmol-2020-317918.
- [26] K. Tripathy, P. Patel, and R. Geetha, "Latanoprost," in *StatPearls* [Internet]. Treasure Island, FL, USA: StatPearls Publishing, updated Feb. 28, 2024. Accessed: Sep. 4, 2026.
- [27] B. Abaidoo, K. P. Mashige, P. Govender-Poonsamy, N. N. Tagoe, V. A. Essuman, and S. Y. Adam, "Glaucoma disease-specific adherence measurement tools validated for measuring adherence to glaucoma medications: A systematic review," *Health Sci. Rep.*, vol. 8, no. 2, Art. no. e70427, Feb. 2025, doi: 10.1002/hsr2.70427.
- [28] L. Quaranta, A. Novella, M. Tettamanti, L. Pasina, R. N. Weinreb, and A. Nobili, "Adherence and persistence to medical therapy in glaucoma: An overview," *Ophthalmol. Ther.*, vol. 12, no. 5, pp. 2227–2240, Oct. 2023, doi: 10.1007/s40123-023-00730-z.
- [29] C. Baudouin et al., "Adherence and persistence on prostaglandin analogues for glaucoma: A systematic review and meta-analysis," *Am. J. Ophthalmol.*, vol. 275, pp. 99–113, Jul. 2025, doi: 10.1016/j.ajo.2025.03.025.
- [30] A. Ha, M. Jang, S. R. Shim, C. Y. Kim, I. B. Chang, and Y. K. Kim, "Interventions for glaucoma medication adherence improvement: A network meta-analysis of randomized controlled trials," *Ophthalmology*, vol. 129, no. 11, pp. 1294–1304, Nov. 2022, doi: 10.1016/j.ophtha.2022.06.025.
- [31] T. M. Atey, W. Shibeshi, A. T. Giorgis, and S. W. Asgedom, "The impact of adherence and instillation proficiency of topical glaucoma medications on intraocular pressure," *J. Ophthalmol.*, vol. 2017, Art. no. 1683430, 2017, doi: 10.1155/2017/1683430.
- [32] S. L. Mansberger, C. R. Sheppler, T. M. McClure, C. L. Vanalstine, I. L. Swanson, Z. Stoumbos, and W. E. Lambert, "Psychometrics of a new questionnaire to assess glaucoma adherence: The Glaucoma Treatment Compliance Assessment Tool (an American Ophthalmological Society

- thesis)," Trans. Am. Ophthalmol. Soc., vol. 111, pp. 1–16, 2013.
- [33] K. L. Buehne, J. A. Rosdahl, and K. W. Muir, "Aiding adherence to glaucoma medications: A systematic review," Semin. Ophthalmol., vol. 37, no. 3, pp. 313–323, Apr. 2022, doi: 10.1080/08820538.2021.1963788.
- [34] K. Kvarnström, A. Westerholm, M. Airaksinen, and H. Liira, "Factors contributing to medication adherence in patients with a chronic condition: A scoping review of qualitative research," Pharmaceutics, vol. 13, no. 7, Art. no. 1100, Jul. 2021, doi: 10.3390/pharmaceutics13071100.
- [35] D. Bott, A. Subramanian, D. Edgar, J. G. Lawrenson, and P. Campbell, "Barriers and enablers to medication adherence in glaucoma: A systematic review of modifiable factors using the Theoretical Domains Framework," Ophthalmic Physiol. Opt., vol. 44, no. 1, pp. 96–114, Jan. 2024, doi: 10.1111/opo.13245.
- [36] S. G. Moore, G. Richter, and B. S. Modjtahedi, "Factors affecting glaucoma medication adherence and interventions to improve adherence: A narrative review," Ophthalmol. Ther., vol. 12, no. 6, pp. 2863–2880, Dec. 2023, doi: 10.1007/s40123-023-00797-8.

Authors



Reinne Natali Christine    is a lecturer in the Department of Ophthalmology, Faculty of Medicine, Christian University of Indonesia, Jakarta. She is also a practicing ophthalmologist. She is a member of the Indonesian Medical Association (IDI). Her professional interests include ophthalmology and clinical research. She is actively involved in academic research and community service programs. (email: reine.christine@uki.ac.id).



Gilbert Simanjuntak    is a Professor of Ophthalmology in the Department of Ophthalmology, Faculty of Medicine, Christian University of Indonesia, Jakarta. He is also a practicing ophthalmologist. He is a member of the Indonesian Medical Association (IDI). His professional interests include ophthalmology and clinical research. He is actively involved in academic research and community service programs. (email: gilbert.simanjuntak@uki.ac.id).



Silphia Novelyn   is a lecturer in the Department of Anatomy, Faculty of Medicine, Christian University of Indonesia, Jakarta. She is a member of the Indonesian Medical Association (IDI). Her professional interests include anatomy and biomedical research. She is actively involved in academic research and community service programs. (email: silphia.novelyn@uki.ac.id).